Total No. of Questions—232] [Total No. of Printed Pages—7

M—154A1

BIOLOGY
(Hindi & English Versions)

Time : 3 Hours

Maximum Marks : 75
ﬁ‘a’:ﬂ:
(1) = v sfEd £
(2) W ®wAF 7, 8,13, 14. 18, 21 37 22 § wighw foeen G m F
(3) ¥ % 3w feu o fdwmar fafan

Instructions ;

(1) All questions are compulsory.
(2) Internal options are given in Question Nos. 7, 8, 13, 14, 18, 21 and 22

(3) Write the answers of questions according to the notes given.

Evt : v w0 1 9 6 7% F THF WA = I AUFAE 30 vl § ferEn |

Write the answer of Question Nos. 1 to 6 in maximum 30 words each.

Z—12—M—154A1 P, T,



(2)
1. AR S R GETET S S gl 5 7
What shows the Tidal volume in a Common person ?
2. IURAET 9 9T 4 58 B £2
How are Epiphytic roots different from Normal roots ?
3. wiAfan w1 =@ witvs 7 Twitss o 5
Draw a labelled diagram of Flame cell of Planaria.
4. 9"l § wAfedw % 91 gee fatan
Write two importance of Auxin in plants.
5. T WFSl WEH FIT A & W F G #iw ametes 9w fatag
Write two common and botanical names of Plants that provide Timber.

6. W IWELV Bl W3l &1 AW wEw HEeeT

Explain Medicinal importance of animals with four examples.

9T : U F=HE 7 F 12 % % YO U¥A F IW AEan 50 vy ¥ fefaw)
Write the answer of Question Nos. 7 to 12 in maximum 50 words each.

7. TEE ¥ w9od f&a =1 f59 2% gmsmn

Explain locomotion in Hydra with diagram.

£—12—M—154A1
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8.

=5

10.

11.

{.3)
HET (Or)
A AN %1 T99 999 399 51 993E|

Draw diagram of Ruminant stomach and explain its functions.

TifeaREgg 99 =1 =90 =1 fafwes guzmy)

]

Explain speciality in structure of Papilionauous flower.
HA94ET (Or)
#AaTA M 9 ww § 2 w9mmn)

What are Tropic movements ? Explain.

Yo, G3a% 091 TARIVIE FaF F oI-o] FY [A1E | 3
Write two functions of each of Parenchyma, Sclerenchyma and Collenchyma.
1A 9 444X TUEH F FRU 399 Ggfa & 99 aaw fEa) 3

Write three features in human having disorder developed due to 44+X

Chromosomes.

Rh =7 #91 § ? fauw g4 sa=1 v9w =67 FEvas &7 3

What is Rh factor 7 Why is its evidence required before Marriage ?

£Z—12—M—154A1 B.T. O



t4)

Lt

12. warer ¥ Uit faw | = @y 2 £ 0 fefen

Lad

What are the advantages of Amniocentesis to Society 7 Write.

v : o9 9% 139 17 7% ¥ uSE 955 5 =1 Hiywag 75 smar W e

Write the answer of Question Nos. 13 to 17 in maximum 75 words each.

13. TUEIW TR § g9 FT qiEE S9HEREy | 4
Explain the role of Kidney in Osmoregulation.

HGET (Or)

vEed § =mwT w o gfgs aummEn

Explain the role of Diaphragm in Respiration.

4. FFATE A (Nucleie acid) 5 vqE F1d faran | E
Write the main functions of Nucleic acid.
HEYHT (Or)

Write special features of Crossing over.

Z—12—M—154A1



16

Tl

. IFT % A7 WHE wE ) (mre 4

Write four major functions of Liver.

SET oUW UF FEE FT uAiEn U A wwe § %4 99§ 7 mmsmy 4

How the traits are inherited without effecting each other in Organism 7

Explain.

AA Al F1 [oEAE fHgTE EaEe E

Write Chromosomal theory of Inheritance.

T« uw wHiw 18 F 22 7% F y=w e w1 I sfSEEn 150 ey ¥ ferfau

8.

Write the answer of Question Nos. 18 to 22 in maximum 150 words

each.

et A = =1 wew wwwmn) FUE ¥ e 9w & 9§ w=n afedd w26
€7 5

Explain the significance of double Fertilization. What changes occur in floral

parts after fertilization ?

Z—12—M—154A1 L A,



(6)
HAG4ET (Or)
I9 & YHE =] =4 a9 5= ven F guey gummn)

Explain the structure and cohesion of Stamen in flower.

19, g @9 w1 99 9 Tadgs 9fg 9 =0 wfimds 29 § 2 gosmuy 5

S

What changes occur in Stem of Dicot plant due to Secondary Growth

Explain.

20. 799 & ARE & F 5= 9/ F 51 991 =9 fafau 5

Write the names and functions of different parts in Alimentary Canal of

Human,
21, g S # = 9w =d gonmen fafaw) 5
Write the structure and working of striped Muscle.
HGET (Or)
qE == O 4R W 9rel UTgd F A9 9 39% 5 ferEn)
Write the names and funetions of Glands found in Human skin.

Z—12—NM—154A1



(7)
5o faftry % wErT gRy w Frewd freTen S W 27 WA W S99 S gHERY) S

od

What conclusions can be drawn by the experiment of Griffith ? Explain with

the description of experiment.
Hg=r (Or)
AETE ATaEiTEHT F1 aRAE AT F STl N HuEE |

Explain the technique of Genetic Engineering with the example of Cloning.

Z—12—M—154A1 14,000



Total No. of Questions—22] [Total No. of Printed Pages—7

M—154B1

BIOLOGY
(Hindi & English Versions)

Time : 3 Hours

Maximum Marks : 75

ﬁﬁ'ﬂ:
(1) =+t gy #AfaE T

(9) T HEE 9, 11, 14, 17, 18, 19 @ 22 ¥ aafew fawen fag M

(3) weE % T fem o v e

Instructions :

(1) All questions are compulsory.

(2) TInternal options are given in Question Nos. g9, 11, 14, 17, 18, 19 and 22.

(3) Write the answers of questions according to the notes given.

Brdvr . ¥ HEE 1 W 6 TF ¥ TOm W T IW Awed 30 vl § fArE

Write the answer of Question Nos. 1 to 6 in maximum 30 words each.

Z—12—M—154B1 BT 0,



1. FEREEd (Thylakoids) #37 € ? 2

What are Thylakoids ?

2. 8)I.D. § #HU 1 gHm ¥ 2 TR €1 Stow swmm=ew 7 % A Fafam) 2

What do you understand by S.T.D. ? Write two names of Sexually transmitted

tlisease.

Fut

3. HEME HAG T FER] 4G9 59 =9 B G

What shows the Tidal volume in Common person ?

4. UH =T T E 7 2
What is Pearls oyster ?

5. IeM F 39 9w w1 AW fafen, 598 S8 w5 (¥%) 9w S F 2
Write the name of part of Retina where only cones are found.

6. " €29 $99 (Plasmolysis) F1 T4rGa a0 | 2

Define Plasmolysis.

ey : 99 FHIF 7 9 12 9% F UAF U F1 39 Af4Uwan s0 wemr 0 ferEn

Write the answer of Question Nos. 7 to 12 in maximum 50 words each.

7. GIFT 1 #1919 94120 | THF 4ewS % €497 § HYE0

Ll

(zive the meaning of GIFT. Explain its importance in brief.

Z—12—M—154B1



{31

8. WO W= (Phylloclade) 591 W9 99 (Cladode) 3§ #9 @= farfign 11

Tai

Write three differences between Phylloclade and Cladode.

oqqfﬁaﬁﬁww:ﬂﬁmﬁﬁmﬂmml

L¥E)

Explain speciality in structure of Papilionacius flower.
He4r (Or)

What are Tropic mevements ? Explain.

10. Sifaw @r fodt #2d €7 s soim wEmte w5 gen § afuw o w69

g7
What is Biofertilizer ? Why Biofertilizer is best as compared to Chemical

fertilizer ?

11. #%fE 4% (Unstriped muscle) 37 515 51 3974 90 | 3
Describe the structure of Unstriped muscle.

/—12—M—154B1 F.T. 0.



(4 )

HAGET (Or)
TH THC 7 TH W e IR = wwd £ 7 T weuven o gag &
HHATEY |
) What is Pace Maker ? Why this is called life saving device ? Explain its
! functions in brief.
12, 9 F fooR F9o wwy 89 ¥, ofeend =51 277 3
Human males are generally suffering from baldness, why women not ?

o : 9w 13 8§ 17 7% F wuw 0y T I AYFTT 75 Ve 8 TefEn

Write the answer of Question Nos. 13 to 17 in maximum 75 words each.
13. wfoAEd #1 § ? 7% 9Eeayv A fafEn 4

What are Plasmids ? Write their important characters.

14. Aft Tmim =7 aEdm-a==0 9% 57 995 $50 aes BN it | 4

Describe with the help of diagram the steps of Urea formation in Ornithene-
Arginin cycle.

Z—12—M—154B1



16.

T7:

HAGET (Or)
AE T, WSS 9 H w0 96 E 2 wilas aF 5 i FTLMAT FHT HoiF
FIT970 |
Why human heart is called Myogenic Heart ? Describe the phases of Cardiac

cycele.

. AFA % =E THE wE ¥ efE) 4

Write four major functions of Liver,

sEfRT = s fag fafam | .
Write Chromosomal theory of Inheritance.
FFITF T (Nucleic acid) ¥ ¥qaE = feiEn 4
Write the main functions of Nucleic acid.

HYGT (Or)
s fafrm =1 faviend fafen

Write special features of Crossing over.

ﬁw:mmqsﬁzzﬁ%mmmw-ﬁw 150 yr=e7 o ferfimm |

Write the answer of Question Nos. 18 to 22 in maximum 150 wards

| each.
JI qs.ﬂﬁﬂwﬁ?aﬁqﬁﬁ%ﬁﬁqmmmaﬂh&fﬁm 5
| What are Joints ? Describe the various types of Movable joints with suitable
|| diagram.

Z—12—M—154B1 F o 1



(6)

HIET (Or)
Hﬁmﬁﬁhmﬁﬁﬁﬁﬁaﬂﬁaﬁ'wmﬁmn
Differentiate Sympathetic and Parasympathetic nervous svstem.
19. 9F™ HyeMw 57 few G = ERE
Explain Hill reaction of Photosynthesis.
HAYET (Or)
EESTRIEY =07 £ 7 sa=1 399 fafau |
What is Hydroponix ? Write its uses.
20. THT & W v A= 813 W Feaiany @ avi sif
Describe the mechanism of opening and closing of Stomata.

21.mﬁ-mwﬁﬁn?W%m@wﬁiﬁq:

Write the names and functions of different parts in Alimentary C

Human.

Z—12—M—154B1
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22. SH TRYR T ¥ ? S YRR F 94 FROT ¥ 7 WHAED) 5
What is Gene mutation ? What are the causes of Gene mutations ? Explain.
Hedgr (Or)

T FIATERITCTR i U6 UF 999 TF9 510 3099 9= § eTree 3 CHICTInCal

w1 99 311 W9

Explain the inheritance of Haemophilia when a haemophilis woman is married

with normal man with the help of diagram.

4A—12—M-—154B1 14,000



Total No. of Questions—22] [Total No. of Printed Pages—7

M—154C1

BIOLOGY
(Hindi & English Versions)

Time : 3 Hours

Maximum Marks : 75

e
(1) 4 997 @A=ad £
(2) W99 ®H® 7, 10, 13, 17, 18, 20 3R 22 ¥ oz faweg fou m &
(3) ¥ & IW fay 7w HEwmEEw fafEn)

Instructions :

(1) All questions are compulsory.
(2) Internal options are given in Question Nos. 7, 10, 13, 17, 18, 20 and 22.

(3) Write the answers of questions according to the notes given.

ME9T : U939 FHI% 1 4 ¢ 7% & Tds 999 51 3¢ Afusan 30 w=si ¥ fofaEn

Write the answer of Question Nos. 1 to 6 in maximum 30 words each,

Z—12—M—154C1 P.'T. 0.



(2)
1. TN R HE H T % wE 4 9 U9 eER 28 § 2 e 2
Which two features of stem that are seen in the bulb of Onion ? Write.

2, 9T S w1 U9E] ATEES 597 29iar £ 7 2

What shows Tidal volume in common perzon ?
3. el A9 "= Hegd qm ¥ 21 9= fafau 2
Write two differences between Open and Closed vascular bundles.

4. HEEl IUFET F AWITHT =3 F9=0

e

Draw labelled diagram of Sensory Epithelium cell.

5. ELULET. &1 Fem A i | @=m we £ 2 fafmn

P

Which diseases are cured by D.P.T. vaccine ? Write.

6. YHFL UAH F4 a1 21 THl & HE q9 SEeIas 97 e

I+

Write common and botanical names of two plants that provide Sugar.

ey : 99 wHiw 7 § 12 7% & T9T 9¥9 #1390 Aiusan S0 == ¥ fefEn

Write the answer of Question Nos. 7 to 12 in maximum 50 words each.

7. UiferfrTs 19 1 9 w1 fafvea g

Lsd

Explain the speciality in structure of Papilionaceous flower.

£—12—M—154C1



(3)

4ET (Or)
e M fFE =we £ 7 gwsmEu

What are Tropic movements ? Explain.

s.ﬁﬁﬁmmaﬁﬁaﬁmm‘qﬁmﬁﬁﬁ?w|

tad

How will you identify wood formed during Autumn and Spring seasons ? Explain.

9. T FHWTI H YW FT T A9 7 gwA F 7 3

What can be the advantages of energy plantation to Human ?

m.mmﬁsﬁaﬂwﬁ%ﬁmwgﬂaﬁﬁﬁw@ﬁﬁmn 3
Draw labelled diagram of Human Cardiac Muscle and write its features.

HAGdT (Or)

ﬁaﬁﬁ'?@mq%m@fhﬁmam%ﬁﬁfﬁm

Draw labelled diagram of Villi present in small intestine and write its

function.

4—12—M—154C1 P.T. 0.



1.

12,

(4)
HEydifam & 3¢ ¥ ISl ewt faran) 3

Write about Co-dominance with example.

IFT WA F FEU, UF AG 997 ITEE TorEm) 3

Write cause, one symptom and remedy for Hepatitis-B,

fE9 : 9 wuiw 13 8 177 7% F TSF W w7 I Susam 75 v T W ferfae

4.

Write the answer of Question Nos. 13 to 17 in maximum 75 words each.

. A YR W wEE TRAEEEs 5 fwres 59 T £ 2 fefan 4

How is Carbor dioxide gas eleminated in Human body ? Write.
H9at (Or)

1 YER H w1 e svE £ 7 e ¥ od 9 ae o0 5 A w w5

TeriEy |

What is the utility of Joint in Human body ? Write the names and functions

of Joints found in body.

wigemdl T T4 F8d € ? IS gfes wasm=g| 4

What is Reflex action ? Explain with example.

£—12—M—154C1



15, AMFE FH F IR FE fEfEn) 4

Write four functions of Nucleic acids.

16, FAFETYERT F oEEE e fEmtE) 4

Write Chromaosomal theory of Inheritance.

17. HvEw # fGH®T 19 F1 Iew0 57 HAAEL 4
Explain Mendels dihybrid cross with example.
Fgar (Or)
g fafaymsdi % 3o9= 814 % TR0 AR

Write the causes of Hereditary variations.

fevr . U9 wEiw 18 9 22 7% & Udiw 934 F1 3T Aigwaa 150 vl 7 fafEn

Write the answer of Question Nos. 18 to 22 in maximum 150 words

each.
18, THA & fafys ar =1 9 a9 =E fEe 5
Write the names of different parts of Nephron with their functions.
H44Er (Or)
rw Tfy &7 Fmte 4 =@ifed €19 9 g0ErE & AN a9 =6 fenag |

Write the names of hormones secreted by Anterior Lobe of Pituitary gland

with their functions.

—12—M—154C1 P, T,



19. I® T AER AW F G 9w ¥ wm uE w9 fafan

20,

217,

(6)

L

Write the names and functions of different parts of Human Alimentary

canal,

ErEifenn (Igrnw) fafers gomwn =6 § 2 = dw wwemn ) 5

Why is Hypanthodium special type of inflorescene ? Explain with its

morphology.
HGET (Or)
THEE! FEHEE [9FH 597 TR F 2 § 7 S5 $90 gy

What are the kinds of Uniparous cyme inflorescence ? Explain with

examples.
feomme & our W A F vid ¥ B 85 = am a9 s 1 Tavread

Terfmm | 5

Write the names and the characteristics of various zones found on Stem

apex on the basis of Histogen theory.

Z—12—M—154C1



22. Wﬁmwﬁmmlﬁmwﬁﬁﬁﬁ%?

LA

Explain the strueture of Eukaryotic chromosome. How is it different from

Prokaryotic chromosome ?
A4t (Or)

Wﬁnﬁ?mmsﬁmaﬁmﬁﬁfﬂﬂ%?

Explain Morgon's concept of linkage. How is it different from Sutton's

hypothesis ?

Z—12—M—154C1 14,000



Total No. of Questions—22] [Total No. of Printed Pages—7

M—155A2

BIOLOGY
(Hindi & English Versions)

Time : 3 Hours
Maximum Marks : 75
ﬁﬁ'ﬂ' s
(1) T WA Wi
(9 WeA AR 7. 9, 14, 16, 18, 20 3T 22 § wwrw faweq frw o F

i

(3) wET F I feu M FEwER fEfE

Instructions :
(1) All questions are compulsory.
(2) Internal options are given in Question Nos. 7, 9, 14, 16, 18, 20 and 22.

(3) Write the answers of questions according to the notes given.

frdor: YT HOIE 1 9 6 F F FO® 4¥d HI I AUFTH 30 K] =y |

Write the answer of Question Nps. 1 to 6 in maximum 30 words

each.

Z—12—M—155A2 P.T.0,



B

1.W#ﬁﬁﬂa‘1mﬁ‘f%m~ * W 3R "iew fetam 2

Write the name with examples of two modification of tap root for storage of

food.

2. 9T WY AEETSE B S 37 s ElE g

el

Explain the deficiency of nitrogen on plants.

3-.ﬁ%ﬂ-ﬂ%aﬁméﬁqwﬁfm=rmﬁwl

Fuk

Explain two dissimilarities hetween blood and lymph.

4. Wﬁﬁﬂﬂmmﬁﬁmﬁﬁml

Pt

Draw a labelled diagram of Ruminant Stomach.

L
I

What iz Green manure ?

6. H FUT V9H * SH™TTE 98 fefaw =T |

=

Write the botanical name of Mango and Shisham.

ﬁé‘ﬂ:mm?ﬁuﬁzﬁ%mmmm STIYFTH 50 V=7 & fafmm

Write the answer of Question Nos. 7 to 12 in maximum 50 words

each.

7. UTOF FOF & 99 vEW ¥ 23 =hmm

[FN]

Draw diagram of three tyvpes of Parenchymatus tissue.

Z—12—M—155A2



(39
=T (Or)

"~

Tal=T= 94l =1 WY F12 F1 IHiHd 92 a9EL

Draw a labelled diagram of tranzverse section of dicot leaf.

g, fe=fafas =1 =92 =19 . 3
(%) PWEM
(@) famm

(1) SiEss F99)
| Explain the following :
fal  Osmosis
{b}  Diffusion

(c) Plasmolysis.

9. WA Be4d § 9w 9 HAlfciz A1 3491 Afee Gog 978 &1 939 990 9iisa
HITAL | 3

Draw Human heart and label only S-A node and A-V node.
a4 (Or)
Draw a labelled diagram of multipolar neuron.
10. HEFIIERA F1 qUEEE e ThaE 3

Write the chromosomal theory of Inheritance.

L—12—M—1556A2 PO,

E



{4)

1. wEEA faewe 70 § 7 T9% €1 9NE S 9HHET

ta

What is Population explosion ? Explain its two reasons.

12. aFpamy & wnv fafaw) agavie F € wvR F W 79 wF-TF e fefEn

Y]

Write the causes of Hepatitis. Write the name of its two types with one

charaecteristics of each.

M9 : 9 wHIF 12 9 17 9% F TS U W7 S0 ATHSaE 7S v ¥ e

Write the answer of Question Nos. 13 to 17 in maximum 75 words. each.

13, fa @ =t y== & yfvs @g=mes 4

Explain the role of bile juice in digestion.

14. HIESHTEIT HT 1941 997 579 (A= | 4
Write the structure and functions of meninges.
HGET (Or)
(%) FFRT FIIET

m g

(@) WHEHTEd
(1) TE T
(7)) HAEAEESE |

7Z—12—M—155A2



(5)
Name the organ of the following cells where they are found :
tal  Kuffer cells
(b)  Microglea
fe)  Dust cells

(d)  Monecytes.

15. % ®iA T4 4% wTE F1 g5IEw) 4

Explain test cross and back eross.

16. Hi4 #F fdEs =1 sty fagrs fatan) 4
Write Morgan’s chromosomal theory of linkage.
| _ HI4T (Or)
Tefafas =1 sfiyigm sifa -
(F) WHFY (EE(FsETA)
| (|) =TS
| (1) =T S
(®) = Fu
‘ Define the following :
) (al  Hybridization
1 (b)  Plasmagenes
te}  Jumping genes
{d]  Kappa particles.
Z—12—M—155A2 P. T.O.
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6 )
1?,#H'§$ﬁmwmﬁ§?—qmn?—afm” g, 1

What do you understand by Gene bank ? Write its significance,

fador T W 18 § 22 9% F Yo 5 B IR afysen 150 =t W fefign |
Write the answer of Question Nos. 18 to 22 in maximum 150 words each.
18. 5 % fafva w2y %1 foa3 afm wEmn 2
| Describe the various region of the root with diagram.
HEET (Or)
ElE ﬁ'ﬁﬁ:wﬁﬁ%ﬁﬁmmmﬁm

Explain various types of Autonomic movement of locomotion in plants.

19. 399 T5= =t 92rEar 9 aifts T% 999 F GHIET

5
Explain annual ring with the suitable diagram.
20. W™ F gEw F1 A 19 faren 5

Write the internal structure of Kidney.
HEET (Or)
TH F T & fafw w6 fatan (3% =)
Write different functions of human blood. (Any ten)

Z—12—M—155A2



51, 2ETeTE § YR F O9EA F AiEA fafan 5

Write the digestion process of protein in stomach.

22, ETCAIZE TUEHE H HEA BAAEL 5

Explain the structure of Eukaryotic chromosome.
3erdr (Or)
e # ferm Fawton =7 wiwa F1 v@as 50 FHEE
Explain the mechanism of sex determination in Human with ray

diggram.

7—12—M—155A2 14,000



Tatal No. of Questions—22] [Total No. of Printed Pages—7

M—155B2

BIOLOGY
(Hindi & English Versions)

Time : 3 Hours

Maximum Marks : 75
ﬁ'::.f'!?]':
(1) |47 99+ s 7
(2) 997 FHF 7, 8, 13, 17, 18, 20 = 22 ¥ diatew fawey feu o &)

(3) ¥l & sw faw mu FrdemEm fafan)

Instruections :

(1)  All questions are compulsory.

{2) Internal options are given in Question Nos. 7, 8, 13. 17, 18, 20 and 22,

(3) Write the answers of questions according to the notes given.

ey WWTﬁéﬁﬁimWﬂﬂﬁmﬁmﬂwﬁmf

Write the answer of Question Nos. 1 to 6 in maximum 30 words

each.

Z—12—M——15582 30 WL



(2)
1. e ¥ qeg & 91 2ea foat 2
Write two importances of flower in plants.

2, TS U §9 ©F HEem 951 & Y F OFE IR Hfza @@

]

Write the names with examples of two modifications of tap root for storage

of food.

3, THFT ATATYE &1 Amiiea (94 91058 |

Ped

Draw a labelled diagram of Ruminant Stomach.

4. FHT 1 € 7 THS © @m0 HAARLI

b

What is Cancer ? Explain its two characteristics.

]

5.1¢ﬁaﬁ’?ﬁé§ﬁaﬁﬁ%ﬁ;ﬁ1¥iﬁﬁdwl
Explain one function and location of purkinje fibres in human.

a.mﬁaﬁmﬁ'mﬁaﬁmﬁﬂmﬁﬁﬁﬁ%wﬁrﬁm1 2

Write the name of chemical material which is present in honey and lac.

ﬁlﬁfﬁ‘T:Wm?ﬁ‘JEHE:?'?Hﬁ_“r%cn'!IEFIEETW,_BﬁFMEGﬂET"'ﬁﬁWﬁ |

Write the answer of Question Nos. 7 to 12 in maximum 50 words

each.

7. Feey &7 =9 =9 g gaEEld 3

Explain the structure of Hydathode with diagram.

Z—12—M—155B2




(3)
HIET (Or)
ol uF T %1 S99 w1 (L.S) Fewt 19 ¥ fafsm 9o #71 fo gy evifen |

Draw L.S. of a flower showing different parts of a flower.

8. IE %= § waw fymy #Aifee iz a9 sfee e e W oy wEr aites
AT | 3
Draw Human heart and label only Sino-auricular node and Auriculo ventricular

node.
=HgET (Or)
TEUAT AT = WIS 29 T

Draw a labelled diagram of multipolar neuron.

9. HUEH W FHIEW 1 199 sEwaw wiew fof@u

LFY]

Write the Mendel’s law of dominance with example.

10. =9 YoIg (H&) T [HwA S 55 g guwn) 3

Explain the inflorescence of flat axis with diagram.

1. e =w' ud S5 38w § = siw § 7 SEn) (37 99)

fd

What is the difference between Organic manure and Biofertilizers ? Write.

(Any three)

12. SHE EEN w 83 § SEfaeE 5 40En F SR 3

Explain the role of Biology in the field of population control.

£—12—M—155B2 P.T.0.



(4)
fdor ¢ wYA FHI® 13§ 17 7% F UAS U F IW sfgeag 75 %=1 H Terau |

Write the answer of Question Nos. 13 to 17 in maximum 75 words each.

13, ey faafms 51 591 9 99 29 99 - U0 F 9 oy 4
(&) Tz ‘o
(@) fa=itms ‘=0
(m  Feifes
(=) faafaa ‘=1t

Write the names of diseases caused by the deficiency of the following Vitamins :

fa)  Vitamin ‘A’

(b} Vitamin ‘B’

(c) Vitamin ‘C’

(d)  Vitamin ‘D,

|9t (Or)

Wiz 1 O FifEe gu F fTwm § wwea S5 i S

Define Placenta. Write the role of placenta in the development of an embryo.
14, S d% § o9 T AAG § 7 $ESI Ao (@@g| 4

What do vou understand by Gene bank ? Write its significance.

15. fog @ =1 999 @ qiEE GEAEL] 4

Explain the role of bile juice in digestion.
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16. 9w E 371 & =@ =74 HEHET | 4
Explain four functions of Nueleic acid.
1?.ﬁ?fﬂﬂg‘maﬁqﬁqﬁﬁfﬁmmaﬁaaﬂﬁaﬁ§m 4
Define Turnor syndrome. Write its three characters.
AT (Or)

Fefafes =1 aftsfeg S
(%) e ==

(@) w&E
(1) wfEreEy
() HERET

Define the following :

fa)  Plasma genes
(b)  Allele

{e) Genotype

(d}  Phenotype. -

ﬁé‘w:Hﬁmwﬁzzﬁ%mmmmﬁwmmﬁﬁﬁm |

Write the answer of Question Nos. 18 to 22 in maximum 150 words each.

18. ﬁmﬁmwmmﬁmmﬁaﬂ?mmw

(¥ B

(%) = ==
(@) Freag.
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({ 6)
(1) AR
(=) HoEd 4@
(z) fagi
Explain the internal strueture of dicot stem under the following heads :
{a) Epidermis
{(by  Cortex
{e)  Pericycle
{d) Vascular bundle
(e) Pith.
Hg=aT (Or)
Explain Blackman’s law of limiting factor with ray diagram.
19, FRE § wET TEAEERES F Taed #1 faiag | 5

Write the transportation of Carbon dioxide in blood.

20, uﬁaﬁfﬁmﬁwﬁmﬁﬁaﬁﬁmlmﬂmuﬁaﬁmfﬁﬁam 5

Define Reflex action. Write the process of reflex action with example.
gar (Or)

ﬁfﬁﬂﬂrﬁaﬂ%ﬁﬁréﬁmmmﬂﬁﬁﬁﬂﬁh#mﬁ%ﬁmt

Write the name of cells which secrets Insulin and four functions of insulin

hormone.
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21, Ty fow @1 wEEE @ fts 9e9 97 SRR

L7

(¥4}

Explain Annual rings with suitable diagrams.
22. w+few FSifaafin =1 ufiwfes wifaw) o9a F=am 9 I™E F0@EE F9EEn)
(& IN) 5

Define Genetic Engineering. Explain its contribution in human welfare.
(Anv four)

HGET (Or)
HHHET | ’

Define Genetic code. Explain four characteristics of genetic code.
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Total No. of Questions—22] [Total No. of Printed Pages—7

M—155C2

BIOLOGY
(Hindi & English Versions)

Time : 3 Hours

Maximum Marks : 75
']:vi'é:'!ﬂ 2
(1) T4 w1 d@f=d £
(2) WEH FwHF 7, 11:;. 13, 17, 18, 20 3% 21 § sinfs ey fEw o €
(3) W & v feu W TAewnan T
Instruetions :
(11 All quesiions are compulsory.
(2] Internal options are given in Question Nos. 7, 10, 13, 17. 18, 20 and 21.

{3) Write the answers of questions according to the notes given.

fdvr: o F9i= 1 8 6 °F = THT I5 ¥ 397 AUFEY 30 v=] § jA0EL

Write the answer of Question Nos. 1 to 6 in maximum 30 words

each.
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1. 58 @9 ®wEd O % oz Toan 2

Write one difference between chyme and chyle.

b

2. SIS HT UGG B S0
Define Transpiration.
3. 9TSA HUE B W qEe ST % eUERW & A9 39w giEq fafou 2

Write the names with example of two modification of tap root for storage of

food,

4, =R FiA9 UM F IR w=iiew FE uw g9 Siaw T OFT T 7 TR
HYET | 2
Define Sexually transmitted disease. Explain one characteristic of zexually

transmitted disease with name.

(o

5. TS A W AEiEa 99 FEET)

Draw a labelled diagram of Ruminant Stomach.

frd

Write common and botanical name of two fibre vielding plants.

ey : y =g 7 9 12 9% ¥ 99w 9T %1 IO HiuHan s0 w=i 6 fafen

Write the answer of Question Nes. 7 to 12 in maximum 50 words

each.
7. TFETATS] 79 % Hagd a0 H1 991 H ARG (99 G5 | 3

Draw a labelled diagram of vascular bundle of monocot stem.

Z—12—M—155C2



(a3)
3194 (Or)

Horyl YEY H1 UF JHiEa 93 930

Draw a labelled diagram of Pitcher plant.

. TEEHE 791 5HE YF 9 g 9igq HEHE0 |

Lax

7.3

Explain monoadelphous and diadelphous conditions of stamen with

example.
9. FEAHT=d favgm F1 99 =y fatan 3

Write three characteristics features of Klinefelters syndrome.

10. O9F =4 O F99 finy waniee A aw snise e G = e 3w 9w
TS | 3

Draw human heart and label S.A. node (Sinu Auricular node) and Auriculs
ventricular node.
HAGET (Or)

FEYErT = = ity G am

Draw a labelled diagram of multipolar neurons.

11. ETHHIN 597 & ? THF] U8 99=AE0|

Ll

What is Vaceination ? Explain its importance.

12. 33 sdtek TFd wwd € 7 99 ¥ sHw g2 fEfand 3
What is Biofertilizer 7 Write its importance in agriculture.

£—12—M—155C2 P T,



{4 )

e : w9 FHiw 13 3 177 7= F oo@w 9w ow o sfawaw gs v ferta |

Write the answer of Question Nos. 13 to 17 in maximum 75 words each.

13. ®ftm 593 =7 ofe fafan 4

14,

=X
b

16.

17,

Write the mechanism of blood clotting.

HEET (Or)

faerm 778 w=a £ 2 Tgaws o5 9o § T ofeds feten

What is Cleavage ? Write the changes that occur in the embryo till gastrulation.

o5 = =1 == ¥ yiww g9smn) 4

Explain the role of bile juice in digestion.

. WF 4% § A T OgEIE £ 7 39% Tew fafau 4

What do you understand by Gene bank ? Write its significance.

JUH LR G4l TEE S g Sl HAMl 9 gUisgeT S avnT w1 mhee
HHTET | 4

Explain with the help of ray diagram the inheritance of colour blindness, if

normal woman produces offsprings with colour blind man.

OvEd & {9997 =1 ge== TEfEuy 4

Write the significance of Mendel's laws.
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(5)

HIET (Or)
Frefeafam =1 sfenfon =i -
() FEem
(=) F=T
(m)
(=) TuEgE
Define the following :

la)

]

(d)  Heterozygous.

TEe . w7 #0918 F 22 °F F vow 1T H) IO #T9EAT 150 vl o e
Write the answer of Question Nos. 18 to 22 in maximum 150 words each.
18, el Wiz =1 srif we e gt ¥ gy 5
(%) = w=
(@) =R
(M)
(=) g

(=) faw
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[ B )

Explain the internal structure of dicot root under the following points :

fa) Epiblema

(thl  Cortex

(e) Endodermis

(d}  Vaseular bundle
(e} Pith.

FHIET (Or)

T F e U9 A= B F1 Eanad gumsh

Explain the progess of opening and closing of stomata.

19. 3w o3 =1 9wEE 8 90 F ¥isg f@vim w1 feafafa rsmse 5

Explain the process of active absorption of water with the help of zuitable

diagram.

20, YA B HeFU H1 do=Al faiEn 5
Write the strueture of human internal ear.

Ha4T (Or)

ATeTEE Ty =1 fEansi=m 97 = 11 9fy =0 5990 2 § 7 39 U T STEiaaneierd
+F TR 9T =91 99re fHiEe

Which gland controls the activities of Thyroid gland ? Write four effects of

this gland due its hyposecretion in the body.

Z—12—M—155C2



(7)

21, WE YAE P E? TILE TR I FEE
What is Maternal inheritance ? Explain with suitable example.

U= (OF)
Sfew SSifmfo & e &5 § i wes T

Explain five significances of Genetic Engineering in different fields.

22. 39w To= &1 weE@ 4 Ffis T099 = 'EW?JE‘U

Explain Annual rings with suitable diagram.
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